
1 

 108-109      

 ( 2K+270~2K+320)
    108.8.12 

 60    

 

 

 

 

 

    

 

    
      

                      
( )

/  
 2,160 

    ( )    ( )              TWD97   X     227702              Y      2721196             

  

  L=50M H=6M 

 1.74  

 
  

?  
                                             

 

 

 
 

(
… ) 

 

1.  
                     
   
2. ? 
                                  
   

2 

 

1. ? 
  P.28~29 P.84     
2. ? 
  P.28~29 P.84     

 

 

 ? 
                                              

 

? 
        
                                                 

 
   

  NGO                      
 

  
? 

  (https://data.depositar.io/organization/ecocheck_miaoli_2019-2020)                 

 

 
  

? 
                                                

 
  

 
        

 
  

? 
                                                                                  

 
  

? 
                                              

 

 

 

1. ? 
        
2.  

                                              

 
 

        



3 

 

1. ? 
        
2. ? 

        
3. ? 

        
4. ? 

        
 

  
? 

                                             

 
                                               

 
  

? 
                                                                                  

 

 

  

 
       

 
  

?    
                                                                                  

4 



1 
 

( )

 
 

 108/7/11   

     ( )    ( ) 

 ( 2K+270~2K+320)
                           

  TW97 X 227702 Y 2721196 

  L=50m H=6m 

 
 

           
_________________________________________________ 

 

  
  

 
 

(A) 

 

Q ? ( ) 
 

( ? A-1 )

3 

 

 

 

 

( )  

 

 

______________ 

( A )
4 10  
3 6  
2 3  
1 1  

0  

 

(B) 

 

Q ( ) ?  
                                             ( B )

10  
6  

3  
1  

( ) 0  

6 

 

 

 

 

______________ 

 

2 
 

  
  

 
 

(C) 
 

Q ?   ( ) 
( ) 

RPI  

6 

 

 

 

 

 

 

______________ 

( C )
10  

6  
3  

1  
0  

10
6 3 1 0

 

(D) 

 

Q ?  
 

25%  5  
25%-75%  3  
75%  1  
 0  

8 

 

 

 

 

( ) 

______________ 

( ) ( D-1
) 

Q ? 
A 5  

( D-1 )



3 
 

 

  
  

 
 

 

(E) 

 

 

Q ?  ( )           ( E )
 

10  
30% 6  

30%~60% 3  
60% 1  

0  
3 

( ) 

 

 

 

 

 

( ) 

______________ 
 

(F) 
 

 

Q ? 
          ( F-1 ) 

1 

 

(
) 

 

 

______________ 

( F )
25%  10  
25%~50%  6  
50%~75%  3  
75%  1  

>1/5 0

 

( )

(G) 

 
(

or

) 

Q ? ( ) 
( ) ( )

1 

 

 

( ) 

 

______________ 

  
7  

4  
1  

0  
    +3  

( G-1 G-2 )

4 
 

  
  

 
 

 

(H) 

 

Q ?  

10  
6  
3  

1  
0  

6 

 

 

 

 

 

 

______________ 
( )

 

 = A+B+C =    15    ( 30 )

 = D+E+F =    12    ( 30 )

 = G+H =    7    ( 20 )

=    34     ( 80 ) 

 
1.  

   2.
 

3.   ( )  
4.  

 


